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1,000,000 * 13CH * 40% 5,200
= 2,600
2 2,600
=0 =& HPHMCK HNER 10,250 9,750 500
= 5,125
= 2,152
2 2,973
307 Q201 10,250 9,750 500
= 5,125
= 2,152
2 2,973
02 pIANBABE 10,250 9,750 500
o sY=E HPNMCIME B2
25,000 * 4103l 10,250
= 5,125
= 2,152
2 2,973
ITEE AL SARNAALY X 24,000 24,000 0
= 12,000
2 12,000
402 RIAR 20| 24,000 24,000 0
= 12,000
2 12,000
01 IR E 24,000 24,000 0
o ITEE AUAL BAHOALY X
20,000,000 * 2JHA * 60% 24,000
= 2,000
2 12,000
HNHASHAREE 2,000 2,000 0
203 HRFAY| 2,000 2,000 0
03 Al =R =AY 2,000 2,000 0
o AEHYSHARFH 2,000,000 2,000
SR 348, 060 185,132 62,928
= 236,520
= 36,738
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SENSSY X4 7,500 7,500 0
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402 RIX20IH 7,500 7,500 0
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MW
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7,200
1,728
4,032

MW

02 It AEx 12,960 12,960 0
sMHHEME0IE MREHE &3

1,200,000 » 1&H » 1238 = 90% 12,960
7,200
1,728
4,032

0

W
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NIXI& A 327,600 164,672 162,928
229,320
32,760

65,520

M
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301 et Az 327,600 0 327,600
229,320
32,760
65,520
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12 JIetE4A=3 327,600 0 327,600
o JUEMAMEH 327,600,000 327,600
229,320

32,760
65,520
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sgelitd sti=a X# 600,041 630,000 A29,959
240,016
132,009
228,016

M H1AD
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2N AEBRSTY
HH: S0 FM Ys

Cel: ZEEAEA NBHX K (Etel:&e)
- _ — N e
S EHB .S (BH) - HRAIY - B2 0 AF oA e HDZS2
2z 100,000
02 SIZHAEE 100,000 0 100,000
o 2US SRS ¥ TR ALY
100,000,000 * 14} 100,000
2 100,000
22 MEss 2SO 20,000 0 20,000
2 20,000
307 BI2t0IA 20,000 0 20,000
2 20,000
05 I2t9leta 20,000 0 20,000
o 225 Mass B0 20,000,000 * 14 20,000
z 20,000
Sae 22010 E 40,000 0 40,000
z 40,000
401 AlEHIL 2O 40,000 0 40,000
2 40,000
04 S ALRHEAl & 40,000 0 40,000
o SMY ERONY (LS HIH)
40,000,000 * 14! 40,000
2 40,000
VP SY WY Y5 12,282,711 12,808,398 525,687
= 7,255,531
= 41,666
p 29,235
= 722,976
= 4,233,303
VP =Y | 7,766,734 7,599,328 167,406
= 7,255,531
p 29,235
= 60,443
= 421,525
JeYsYUsY HNEBS 1,290,504 1,749,846 459,342
= 1,259,064
= 4,716
= 26,724
206 T2l 31,440 34,960 13,520
= 4,716
= 26,724
01 MEH 31,440 34,960 13,520
o SOtotM AIERHl B2 40,000 * 786% 31,440
= 4,716
T 26,724
402 BIZHRH=0IH 1,259,064 1,714,886 455,822
= 1,259,064
02 OI2HCH S AL 1,259,064 1,714,886 455,822
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Hal: AEPsY YWY Lt
ool HEYSY S (S92
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o Rz
o SI1Z HIR X (14,783E)
1,259,064,000 * 14! 1,259,064
= 1,259,064
RS ] 420,000 5,451,000 5,031,000
= 420,000
301 YerBAZ 420,000 5,451,000 5,031,000
=2 420,000
12 JIE2 A3 420,000 5,451,000 5,031,000
o MW AT EH (2,008na)
420,000,000 420,000
= 420,000
A= MK 6,750 10,545 £3,795
= 2,700
2 4,050
307 2120/ H 6,750 10,545 £3,79
= 2,700
2 4,050
02 QIAAMBE 6,750 10,545 A3,795
o AHINEH FBY=Y MEDS(3209)
6,750,000 * 14! 6,750
= 2,700
2 4,050
SUSH 22 L AABY N 23,175 24,807 A1,632
101 Q1248 12,672 12,012 660
04 JAMZRISES 12,672 12,012 660
o HEH MM 22XEA
33,740 * 113 * 30 11,135
o 4nEER 11,135,000 * 13.8% 1,537
201 Yer2 Yyl 6,103 8,335 A2,232
01 AtR2elt| 6,103 8,335 A2,232
< UBrgY| > 0
o MEAM U 222
50,000 * 120K * 23] 1,200
o EZ SMS(ZIF)WH SRR
20 + 15,0000 * 13| 300
o M@ =2 DIDM 1,000 x 800 * 23l 1,600
< o EH| > 0
o MHAAR =X 7,000 * 3% * 93 1,953
o AEYSAML BHABY 29
7,000 * 153 * 10 1,050
202 01t 2,400 2,460 A60
01 =Ujoi | 2,400 2,460 A60
o AEYsY =X 20,000 * 3% * 202 1,200
o SUNY =& 20,000 * 3% * 202 1,200
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By M=o BM 2y
ool AEYsY sS4 ECR-ED
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2
301 Lt A=z 2,000 2,000 0
10 EHAIAHIEAZ 2,000 2,000 0
o XEE=Yol W 50,000 * 40H 2,000
NEES sHEOM 4 76,000 76,000 0
c 19,000
o 57,000
402 SI2tX 20| M 76,000 76,000 0
o= 19,000
iy 57,000
01 Q228X 76,000 76,000 0
o XYASHES SAHUIN S4
76,000,000 = 1A 76,000
= 19,000
o 57,000
HEetAd=sd B2 211,200 193,050 18,150
402 SIZ2tXHE01A 211,200 193,050 18,150
02 OI2FCHEE AFRIH] 211,200 193,050 18,150
o ZAeAE & MME X
3,300 * 128,000 * 50% 211,200
HUHY =H 5,010 4,200 810
= 5,010
301 2EtE A= 5,010 4,200 810
= 5,010
12 JIEIE A2 5,010 4,200 810
o HHIYZ0{d] XI&(140&€) 5,010,000 » 14! 5,010
= 5,010
&EHoS 119,880 89,880 30,000
& 29,970
iy 89,910
301 et A= 119,880 89,880 30,000
& 29,970
iy 89,910
12 JIEIEA =2 119,880 89,880 30,000
o MEASME UESI} X
199,800,000 * 60% 119,880
& 29,970
ey 89,910
MASEHNIZ 29,235 0 29,235
J| 29,235
201 B2 HH| 29,235 0 29,235
J| 29,235
01 AIR&2|H] 29,235 0 29,235
o #AXNZFE A2 ¥ 2H 29,235,000 29,235
J| 29,235
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X xS

s MY 2
Sl BN 59 RIS SN E4 (e
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
< 462,000
2 1,078,000
o RJls MUK =4
100,000,000 * 144 * 70% 70,000
= 20,000
2 50,000
o DEIM AYWHLXEH
600,000 * 10%ha 65,400
= 19,200
2 46,200
o AYXE AMA M A
108,260,000 * 50% 54, 130
= 16,240
2 37,890
SXNES o SHAY 2,183,720 3,571,400 ~1,387,680
= 6,396
2 2,177,324
307 212+0IH 161,200 25,200 136,000
= 4,800
2 156,400
02 QIAMBE 120,000 0 120,000
o SEH =X 7Y X
100,000 * 500ha * 80% 40,000
o SEH AT MM N
200,000 * 500ha * 80% 80,000
06 2&3 41,200 25,200 16,000
o MEA=Y METH RE2
560,000 * 150ha * 30% 25,200
o FEA AHIT AL It
500,000 * 4021 * 80% 16,000
= 4,800
2 1,200
402 Q12X 0|H 2,022,520 3,461,200 A1,438,680
= 1,596
2 2,020,924
01 QIARERE 5,320 1,050,400 1,045,080
o AEYSHE HRSUAAA]
152,000 * 35CH 5,320
= 1,596
2 3,724
02 QI2HCHEHARRLH] 2,017,200 2,410,800 393,600
o BFHS YEHIE X
12,900 * 120,000% * 80% 1,238,400
o SLHHE ASLH =2 778,800
- UBHHBEIX 150,000 * 5,790ha * 80% 694,800
- HEFUx 500,000 * 210ha * 80% 84,000
AaFene 287,500 40,700 246,800
= 111,000
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SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il b o B2
2 176,500
402 Q12X 01 F 287,500 40,700 246,800
= 111,000
2 176,500
01 UAEBE 287,500 40,700 246,800
o EZ s42 20| XY
10,000,000 * 2JH 4 20,000
= 4,000
2 16,000
o ¥EH I X 535,000,000 * 50% 267,500
= 107,000
2 160,500
HEAN (AR 7,800 17,800 10,000
= 1,560
2 6,240
402 212EXH 01 F 7,800 17,800 210,000
= 1,560
2 6,240
01 UARZRE 7,800 17,800 10,000
o 222 WHHE = X2
2,600,000 * 374 7,800
= 1,560
2 6,240
Me s 13,260 167,570 ~154,310
= 5,304
2 7,956
402 Q12X 0|H 13,260 167,570 ~154,310
= 5,304
2 7,956
01 QIARERE 13,260 167,570 A154,310
o F2J| MYP LKA 85,000 * 156CH 13,260
= 5,304
2 7,956
AsFene o s N 75,000 0 75,000
402 Q12 X0l H 75,000 0 75,000
01 QARZRE 75,000 0 75,000
o BHHY YUE s8I X
500,000 * 100CH * 50% 25,000
o BIA 2O B X
400,000 * 250CH * 50% 50,000
EEEEBIEEE 159, 167 0 159, 167
=l 41,666
= 20,833
2 9,668
402 Q12X 0|H 159,167 0 159,167
=l 41,666
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SA-E . S(E) - MEAY - BES 0 & 24 i SImE=ET
= 20,833
= 96,668
01 2IHX=Ex 159,167 0 159,167
o ABH SIYTIEAY
159,167,000 * 14 159,167
= 41,666
< 20,833
= 96,668
2ol - S8 - U WS L3 3,576,825 754,320 2,822,505
= 1,576,385
< 381,231
= 1,619,209
HoL.EH 54 N 2,203,338 328,620 1,874,718
= 1,274,885
S 156,793
s 771,660
ANER0 X0 5853 1,501,318 75,600 1,425,718
= 1,051,977
= 44,934
= 404,407
402 22t =01 1,501,318 75,600 1,425,718
= 1,051,977
< 44,934
= 404,407
01 BItE2EL 1,501,318 75,600 1,425,718
o A& diHXolE =3 1,501,318,000 1,501,318
= 1,051,977
< 44,934
= 404,407
MEN HAHSYR(HH) M 208,770 206,770 0
= 82,708
S 37,219
= 86,843
402 QI2HHE01M 206,770 206,770 0
= 82,708
= 37,219
= 86,843
01 2IEX=EEXx 206,770 206,770 0
o HHES FHTES HBUH A
413,540,000 * 50% 206,770
= 82,708
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o HlYseA Jlsd E N
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o HOIEERA 287 XY
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- E83Z ¥ 6,000,000 « 153 * 50% 45,000
BHSK ABHE MUK X4 72,500 0 72,500
= 29,000
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= 29,000
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01 QIR =EE 72,500 0 72,500
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NS BB MDA 69, 167 0 69, 167
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o BNE IV M AY
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SSNS FHAND AL 43,200 7,000 36,200
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202 O4H| 300 0 300
= 300
01 =LA b 300 0 300
o FTAJISAY =& 300,000 300
= 300
301 YetE A3 300 0 300
= 300
10 SAAHIZA S 300 0 300
o FTADIZAE 29 300,000 300
= 300
==AlE X 92,170 362,460 A 270,290
201 YeregH| 3.720 3.750 A30
01 AFR22lH| 3,720 3,750 A30
< et=EH| > 0
o it ESMH 40 = 10,00000 * 33l 1,200
< SEH| > 0
o RUSEHGR A 7,000 » 3% * 120 2,520
202 o4 2,400 2,460 260
01 =LHA b 2,400 2,460 A60
o HAUWEHIRFA 20,000 = 398 » 20« 1,200
o SEANSANEHLR=A
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= 67,408
= 101,112
06 283 168,520 56,240 112,280
o =x2 M 2E2 168,520,000 * 14! 168,520
= 67,408
2 101,112
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o DEBIMUAL HYSHAL
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= 300,000
= 90,000
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o D4 HolE M N
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o 2R WL X
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= 595, 182
307 QIzto|A 1,625,800 489,993 1,135,807
pJ 954,276
[~ 76,342
= 595, 182
02 BIZtAAE X 1,625,800 489,993 1,135,807
o HAMXZAI2HE 2 2&H| X
1,625,800, 000 1,625,800
pJ 954,276
[= 76,342
= 505, 182
TAZ MAD|BE Bt = 174,442 98,220 76,222
307 QI2to|A 119,442 43,220 76,222
02 DIZtFAAE X 119,442 43,220 76,222
o FEH M2 MBHEZE YE5H 23
74,000 * 733kg 54,242
o AIZHIEDl X 60,000,000 * 1CH * 50% 30,000
o AI2EZE =X X
4,000 * 22,000kg * 40% 35,200
402 BIZHR=0|A 55,000 55,000 0
01 It R2E=X 55,000 55,000 0
o ZALZ2 THHHEICH DI KHKH KI(EIHIAED])
8,800,000 * 5CH * 50% 22,000
o XA THHHEICH DX KI(ETWD|. 22
) 6,600,000 * 10CH * 50% 33,000
IMNBLSH XK 6,890 6,400 490
[= 1,968
= 4,922
307 QIzto|A 6,890 6,400 490
[= 1,968
= 4,922
02 QI2+FAEX 6,890 6,400 490
o XAIZ LSHXS(B02) 9,842,000 * 70% 6,890
[= 1,968
= 4,922
szl X 11,926 12,330 A404
308 MXISHESOIA 11,926 12,330 A404
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= 1,500
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EQNSH 23 901,954 0 901,954
2 721,563
[= 90,196
2 90,195
402 DI2FRHE0|HA 901,954 0 901,954
=2 721,563
[ 90,196
= 90, 195
02 DIZHCHEH AL HI 901,954 0 901,954
o EUMNSH KIRAS (6,552 )
901,954,000 » 14 901,954
=2 721,563
[= 90,196
= 90,195
EANE(SKHH) LAl 41,000 194,000 A 153,000
(= 12,500
= 28,500
402 QI2IXE=0|H™ 41,000 183,000 A 142,000
(= 12,500
2 28,500
01 pIZiEe=x 41,000 183,000 A 142,000
o EANES LAXIRAY 25,000,000 * 14! 25,000
[= 12,500
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Hal: FIAS AR A

Sl FTA 5988 X (25l &2

SN -ZH A (ZH) - MFAY - BES Aol a4 Hlw &2
- o= T ° . [= Bl e =5 0:”/‘l|_% Lsa
= 12,500
o EAMS ABIISAY =X
32,000,000 = 1CH » 50% 16,000
TESZ AR S 793,149 688,313 104,836
2 396,574
& 79,315
2 317,260
402 2I2HX =201 793,149 639,313 153,836
2 396,574
= 79,315
= 317,260
02 SIZtCHE AFHI 793,149 639,313 153,836
o SHIXSSTHUHXA 793,149,000 * 14 793,149
2 396,574
= 79,315
= 317,260
FTA sS4 g =& 9,370 10,600 A 1,230
201 LBt A 5,970 5,600 370
01 AtER22|H] 4,370 5,600 21,230
< Ybt=ZH| > 0
o FTAUIE 222 NA 30 = 15,00000 * 23| 900
o =HI&=ES EEME A
1,000 * 50008 * 13 500
o S 24l S8 HE 30 » 15,00004 450
< Sl > 0
o FTALHS YR =& 7,000 » 3% * 120 2,520
02 =234l 1,600 0 1,600
< SFM > 0
o =HIZA SsLE 50U A&
1,600 *= 1,0002| & 1,600
202 O4H| 2,400 2,000 400
01 =Yl 2,400 2,000 400
o FTALHS R =X 20,000 = 39 * 40 2,400
301 LEtEAZ 1,000 3,000 A2,000
10 At HIEAZ 1,000 3,000 A2,000
o SN ASIH W= 500,000 * 23| 1,000
skzel?ds 2 XA 13,200 13,200 0
= 5,280
i 7,920
201 L2 H| 13,200 13,200 0
= 5,280
= 7,920
01 AFR22lH| 13,200 13,200 0
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HH: FIAS A S
el FTA s =4 XK (St &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES A oH @;OH Hl =2
o SX2ACAYE 2IXH
1,200,000 » 11S¢ 13,200
= 5,280
= 7,920
SMESERL 1,700,826 5,808,858 4,108,032
= 450,000
< 291,758
= 959,068
SME2SE JIZ 84 , 160,826 1,221,988 AB1,162
[= 264,758
= 896,068
SMERE 22 L A A 304,820 279,834 24,986
201 LEt2AH| 236,870 244,814 AT,944
01 AFR22lH] 236,870 244,814 AT,944
< YBtA2H| > 0
o MK EA EY 200 * 3,2500HK 650
o ENE EES 1,000 * 5,0000H 5,000
o SHIZAATNE SAXZEL A
200,000 * 123] *» 5IHE= 12,000
o SEAZ XY AL EEE2 MEF
75,000 * 2& * 203 3,000
o ZEBUE e 2,000,000 * 14! 2,000
o ZSEUE SSAM2 FALBHHE &X
2,500,000 * 370 A 7,500
o ZESHUE SSNE REEHF 200,000
- 2D &2 T2IHE(NME])
100,000,000 * 14! 100,000
- ZDMHH &2 T22E(0HA])
100,000,000 * 14! 100,000
< 294 > 0
o guIgAMANNE2IRE =
70,000 * 79 = 33| 1,470
o ZSEUMHL| MARE BA 2
70,000 * 79 = 53| 2,450
< ZEH| > 0
o REHI=X 7,000 * 4% * 100 2,800
202 OfH] 3,200 4,320 A1,120
01 2oy 3,200 4,320 21,120
o KREUL F=3A 20,000 * 49 % 202 1,600
o STAY =3 20,000 * 49 x 202 1,600
307 QI2to|A 64,750 12,000 52,750
02 DIZtFAAE X 64,750 12,000 52,750
o XHEHE SHAETE L X
1,250,000 * 153] 18,750
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2N HBBSH
Hal: sM2RsRe
Sl SASRS B 84 (e @8
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 Ao il i~ o Rz
< 18,771
2 75,086
sa2 +525H N 80,000 0 80,000
= 40,000
2 40,000
307 212+0IH 80,000 0 80,000
= 40,000
2 40,000
02 DIRIAMBE 80,000 0 80,000
o SA42AE28H XY 80,000,000 * 14 80,000
= 40,000
2 40,000
SHSRE JIBEY 540,000 4,586,870 14,046,870
= 450,000
= 27,000
2 63,000
APCHE M E A& X2 AN 540,000 1,950,000 A1,410,000
=2 450,000
= 27,000
2 63,000
402 Q121X 0| F 540,000 1,950,000 A1,410,000
= 450,000
= 27,000
2 63,000
01 QIARZRE 540,000 1,950,000 A1,410,000
o SHAC BAZHEAL Z&
900,000,000 * 1744 * 60% 540,000
= 450,000
= 27,000
2 63,000
SA2 DB A 951,975 967,725 A 15,750
=2 1,775
=l 250,000
= 42,200
2 658,000
SAE JIZSA 951,975 967,725 A 15,750
=2 1,775
=l 250,000
= 42,200
= 658,000
oz el 1,775 3,425 A1,650
= 1,775
202 01t 1,775 2,800 A1,005
=2 1,775
NIETE] 1,775 2,800 A1,005
o Y=l iyl 1,775,000 1,775
=2 1,775
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